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Q1. Read the following case carefully and answer the following questions 
that follows: 
 
The Municipal Corporation has a Chief Executive Officer known as the 
Commissioner. He is appointed by the state government for the 
implementation of the issues decided by the committees. The Commissioner 
is assisted by officials like Junior Engineer, School Inspectors and Health 
Officers. 
 
Q(i) There is a _________ Committee for each district that helps the local 
bodies in preparing development plans and also checks their progress. 
Q(ii) What is the organisation that carries out municipal functions in big cities 
called? 
Q(iii) A distinguished resident of the city is appointed as member of the 
General Council. Who is this distinguished resident? 
Q(iv) How does the Municipal Commissioner implement the decisions of the 
committee? 
 
Q2.  Read the following source and answer the following questions that 
follows. 
 
Our government is our leader; the chosen one , that makes policies for the 
welfare of the whole society. The judiciary resolves disputes and ensures that 
the laws are followed. Monarchy is the oldest  and , in the past, was the 
common form of government.The president, chosen independently for a fixed 
tenure, is not responsible to the parliament. 
 
Q(i) Who makes laws? 
Q(ii) In which type of government it is the people who give government the 
power? 
Q(iii)In the monarchy system who has the decision making power? 



Q(iv) The president is elected for a fixed term and is removed only through a 
difficult procedure called_____. 
 
 
Q3. Assertion/Reasoning 
Direction:- In the question given below, there are two statements marked as 
Assertion (A) and Reason (R). Read the statements and choose the correct 
codes. 
Codes 
(a)Both A and R are true and R is the correct explanation of A. 
(b)Both A and R are true, but R is not the correct explanation of A. 
(c)A is true, but R is false. 
(d)A is false, but R is true. 
Assertion / Reason 
 
(i)Assertion (A)Big land owners are two types- absentee and who reside in 
cities. 
    Reason (R) They either employ labourers on daily wages or give the land to 
a tenant. 
 
(ii) Assertion (A)Any work done to earn money is known as the means of 
farming. 
     Reason (R)Most small farmers have to look for additional sources of 
livelihood in order to make both ends meet. 
 
(iii) Assertion (A)In rural areas, Farming is the chief livelihood. 
       Reason (R)Any work done is not to earn money is known as the means of 
livelihood. 
 
(iv) Assertion (A) Agricultural labourers who are poor as well as underpaid. 
       Reason (R)Their income is so high and they do not have to depend on 
loans. 
 
Q4. How did Aahana and Teesta realise the kind of difficulties people faced to 
earn their livelihood? 
(a)by observing the differences in their lifestyle. 
(b)by observing how people support their families in difficult times. 
(c) both (a) and (b) 
(d)none of these 
 



Q5. Which one out of the following is a sad reality of the people of  Jejur? 
(a) Agriculture is the only occupation of this village 
(b) Very few people of this village own land 
(c) All the people here are agricultural labourers  
(d) Both (a) and (b) 

 
Q6. Identify this image. 

 
(a)A Domestic worker  
(b) A vegetable seller 
(c)A Rikshaw puller  
(d) A lady working in an office 
 
Q7. Answer the following questions: 
(a)Distinguish between office area job and factory area job. 
(b)What is the best way to dispose of waste. 
(c)Why do vendors like Bhiku keep moving around in the locality? 
(d) Distinguish between types of Government. 
(e)Explain Presidential form of Government. 
 
 
 
 
 
 
 


